11. INTEGRIRANJE TRIGONOMETRIJSKIH FUNKCIJA

11.1. lzralunajte neodredene integrale:
(a) /cossxdx
(b)

/sin4xdx
dx
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—— 7 dx
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/ dx

sinx (2cos? x — 1)
dx

2sinx —cosx + 5

sin® x cos® x dx
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11.2. lIzralunajte neodredene integrale:

(a) /L
sin® x cos? x

(b) [ sin3xcos5x dx

dx
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sin* 3x cos? 3x dx
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11.1. (a) sinx—gsin3x+lsin5x—|—c

(b) gi—4sin2x+325in4x+c1

(c) —gctg3x—3ctgx+3tgx+ §tg3x+c
1 1 1 1

(d) gsin2x+ﬁsin4x+ﬂsin6x+§sin8x+c
o2 to (s

(e) sinx G x 6 arctg (sinx) + ¢
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h) = sinll x — = gipl3

(h) 77 S X = gz sin x+c
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11.2.

1
(a) —ctgx+2tgx+ gtg3x+ c

1 1
(b) Zcos2x7 1—6c058x+c

1 X X 5 X
(c) gln‘tgi‘fln‘tg571’+§ln‘tg573’+c
(d) 7cosx—3ﬂln V2cosx — 1

2 8 V2cosx +1

(e) Inlsinx| —sinx + ¢

1 tg x
f) —= arct +
0 ()
1 1 1
(g) Exf@sinGXf@sml2x+%sm18x+c

DIFERENCIJALNI | INTEGRALNI RACUN 1 2012./2013.



